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- Assighment ——

Complete pgs. 451 - 452
Questions 2, 3ile, 4abe
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Solutions ———————————
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Solutions =-—se————

3. Solve each system of \?.C&LO‘\"‘OY\S by
Substitution.

d) Ax*+dx-y-g=0 @
V13 = 2%+ H4x @
@\ +3= 2%>+ L% |
Y = A%+ 4%X-3 sub. in@®
O Ay *+ 4%V =] =O

A%+ Yx = (O3 +54%-3)=] =0
Ax*+ H4X=2%*-4x +3-8=0
X = 22X+ HU-NMAXFT3-R =0
| o X*=5"=0
xX*=5

K= Z’ET\FST Gub.\‘x‘\®

!

When X=4\5 .
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Solutions =——esssss———

= \/-’r'},‘){ 2:"42—-(@@
Xy =3=2%x'Q

Oy +2%xX=%"-6
Ly =X"2%-6 sub.in@

@ X+y-3=2%?
X+ (X2-2%—6)=3 =2.x*
p e o ad b e N B LD
XE=lx—=9 = 2 x?*
O= 2x~%"4!%x+9
o= x*+[x+9

1

= TR —
a=1l,b=41,¢c=9

O
X =~4 * J(AY=-HIYT)
20
Aw=-1 X {1 -36
2,
X=-1* {35
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Y. Solve each systemn of equat Hons
b\} celhimination..

a) 6x*-3% = 23; 50O
2%X2+X% = i H @&

quﬁ'igly @ by2
~4%C = IxX =Dy +
x> -3% = 27 ¥ @

\Add @ +0
P e =, SR
| 2x*-85%-3=0
(x+1)(x-6) 1 x=6=-6
2 2 1 +76=-5

Qx+1)(x=3)=0
QX+ 1=0 or X-3=0

&x==1 x=3.
LS | _
’X“é)_ Subin@)
When %= _L When X=3¢
-Q o +’X E Y @Z‘ )+'x(5)8
_L_ o 3) 4 Ny
@( ( ) :\j QN+ = H
AN-1 =u-Y 18 3= ‘i
( ) H D1=u=Y
_Q_-"_l_ Y- N &!%—‘\{:3 -
Ny 2 &).‘S=3
d-1= B”‘\{
S q_ Y- Solutionss (-V2M) & (3,95)
e 7 — -
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b) %*+vuy=8%x+190
'x1~§= IX-1l @

Add ® and®

D2 = ISX+S

AX*=15%-8=0

(x + 1) (x - 16) 1 oX=le=-( )
2 2 Jd +-o=-15

2x+N(x-8)=0

19X+ 1=0 or X-58=0
X ==l xX=F8 .

Z 2 |
X==l /Svub, in@®
2

When ‘X=-_£_°. When X=8"

X*+y=8x+19 x*+y= 8%+ 19
(11”\2%= ‘8(—_\_)449 Q%W%: 8(R)+ 19
2/ 2 M+ = 6Nt 19
_1_+“j=~f_§_+ 19 %J: oN+19-6Y
5 P

= 19
Y= =54 419 -'_‘\IJI_ | ‘ ;\,0- -ﬂ\w
}j: 15—211__ So\u‘\"\'onsl (“‘fz,bq/*l)
| &
'\\j = 859 or M5

o
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Solutions =——esssss———

e) Yh*-Qt=00®
6h*~9 =12t®

Multiply @ x3 Multiply @ %2
Qh““é)"}t: 1§ @ LN -8 = DUt @
1202 -QN L -18=0 12 N2 -QM£-18=0

* Since both equations are the some,
they have an infinite number of solutions.
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